fa (107" erg em™2s7'47") fa (1077 erg em™2s7'47")

spectrum number

1

0.5

Mean Spectrum

rm265 A 0 ot a3p ke

I T T T T T I T Il Il Il LI B | B TTTT TTTT T ! TT I T I'L'I_
: " ave
! ' Hcont

A (&) z = 0.73597

RMS Spectrum

raw

—cont

RMSx

model

Mﬂhlﬁpﬁp‘r’u L ! ) N HB
o

|
' P PR MgII

3/(412830—-4882)=0.900=>1.007

" H‘ A
5000

3000 4000
A (R) z = 0.73597

x(A\t) = ( Data — Model AC5 ) / o X

[=]
@
~N
o -
[7e]
o
o
+
T
o
(3]
b
3000 4000 5000 rne
bod:1886-0.48% A (&) z = 0.73507 e
u = 0.014(23) x = 0.921(73) => 0.921(72)
rm265 med(mad)
T T T T I T _'I_IIIIIIIlIIIlIII TTTT IIII_'l IIII'L'_
| WiRL L, ) " lﬂ-"l i L
— |.|‘. ; : MM i)} : - ‘J'.T’.‘Jy.l.\’ i
TR e IR SRS ANV
YRR TN VP
o i o ) [ R B TR v
" Ly Rl o | e g , e
o N e T Ly il W) o : o da I [ 'u
1 1 1 1 |I|IIlIlIIlllllllll;IIIlIlIIIIIIIiI;I
3000 4000 5000 etoe
5<-8.00

A (R) z = 0.73597

o
=
m

& and x
0.5

10

1.2

0.9

Continuum Lightcurve

med(mad)%

Ac(35108) 4.0(

0
Ac %

7500 8000
MJD — 2450000
BLR Lightcurve
rm265
T T T T T T T T
P B P B P B P B 11
7000 7500 8000 8500 9000
MJD — 2450000
Corrections
rm265
T T T T T T T T
" 1 " " 1 " " 1 " " 1 " " I-
7000 7500 8000 8500 9000
MJD — 2450000
4 = 0.0136(72) x = 0.916(19) => 0.916(19)
rm265 AC,

med(mad)

MJD — 2450000

s Rt ol et 4
-II A — A .H A — (N N
7000 7500 8000 8500 90q9+5_0”
5<-8.00



